2. A constant force P is applied to End 4 of the two equivalent and uniform

iL % ﬂb%‘l’&j‘%‘i 100 %$E£§ ‘—'EI}E%\]?J i%‘%}h bars, shown in Figure 2, and causes them tomove to the right in their vertical

g&ﬁﬁéﬁ_zij : 1511 é §Mb;’r+:&z}}%ﬁﬁ ? iz plane with a horizontal acceleration 4. The horizontal line through 4 is
3 :—éﬁ I—fiﬁ %2’ gik‘ﬁg (1%%") chosen as the datum for zero potential energy (V; = 0). Please derive the
#£#—R #-_7 steady-state angle € using virtual work principle. (25%)

Y S . - $9
LARRAL 48 dnyk 10045 -
2.EBIAKRAE - FRHABEAL R o

| O 2UBRYRAEBEE XL EMNEL ) BRI ARTFHS -

1. A concrete block 4 having a mass of # is released from rest in the position
shown in Figure 1 and pulls a tree log having a mass of # up along a 30° slope.

If the coefficient of kinetic friction between the log and slope is M, please

derive the velocity of the log when the block 4 hits the ground at B.
(25%)

Figure 2

3. The 500-N force Fis applied to the vertical pole as shown in Figure 3. Answer
the following two questions:
(1) Determine the vector and scalar components of the force vector Falong
x and y° axes. (5%)
(2) Determine the vector and scalar components of the force vector F along
x and y° axes. (20%)
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Figure 3

4. According to the loaded cantilever beam shown in Figure 4, answer the
following three questions:

(1) Draw the free-body diagram of the beam; (8%)
(2) Determine the total road from the beam; (8%)
(3) Determine the reaction force at the support A of the beam.(9%)
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